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10000 2.71815
100000 2.71827
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1736.06.14. ~ 1806.08.23. AE Q@HAE &= ZZ(Charles Augustin de Coulomb)

AUYAERZ  F=HNH OSHELIQ  OILEIAI? =ZEHAlessandro
Giuseppe Antonio Anatasio Volta)
1774.04.21. ~ 1862.02.03. M-HIEIAE H|I2(Jean—Baptiste Biot)

1745.02.18. ~ 1827.03.05.

1775.01.20. ~ 1836.06.10. e gotel 2H2(André-Marie Ampére)
1777.04.30. ~ 1855.02.23. IIE Z2lEeldl JIRA(Carl Friedrich Gauss)
1777.08.14. ~ 1851.03.09. stA J2|AEIRH 22 AH E(Hans Christian @rsted)

1791.09.22. ~ 1867.08.25. OtOI2 IH2{dI0l(Michael Faraday)

1797.12.07. ~ 1878.05.13. X §el(Joseph Henry)

1804.02.12. ~ 1865.02.10. atelel sl 8l =(Heinrich Friedrich Emil Lenz)
1804.10.24. ~ 1891.06.23. LS HSFOt2ZE HIB (Wilhelm Eduard Weber)
1831.06.13. ~ 1879.11.05. HYgA 243 WA (James Clerk Maxwell)
1853.07.18. ~ 1928.02.04. fl=2l ot Z# =(Hendrik Antoon Lorentz)
1856.07.10. ~ 1943.01.07. LIZet HI=eH(Nikola Tesla)

1857.02.22. ~ 1894.01.01. atelelsl FEIZ 6l 2= (Heinrich Rudolf Hertz)

> ANE QAHAE & ZZ(Charles Augustin de Coulomb, 1736.6.14.-1806.8.23.)
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